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1. (a) Express as a fraction in its lowest terms."

a 2
a—>5 —a+1

ANSWET: @)......ccniiriniriceceenrsennn o, (2]
. 3
(b) IfHis inversely proportional to (2p-3) and
= — 5 when p=1, find

(i) thevalue of Hwhen p=2.5

(ii)  the value of p when H=%
ANSWET: i)....ecvereerererreeeereeverenseenns wene[2]
ANSWET: i).ervurrerireenesinieseeneeeinenees e[ 2]
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(c) Giventhat 3C -5 =8

(i) make C the subject of the formula

(ii) find the vlaue of C when B =15

ANSWET: [).vcvncrireeneeneccscsisnssssnsnsssans seee [2]
ANSWET: i) .rereararreerereressssessenscssesnnas suee [2]
2. (a) Evaluate and express your answer in the standard form.

8.4 x10°+2.1x10°

ANSWET: @)oot eeeens e [3]

(b) Calculate the volume of solid.

4m

10m

ANSWET: oo ierienreesresrresssensessssssssss sees [3]
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(c) From the figure, calculate:

(i) the length of BC correct to 3 significant figures.

(ii) BAX

A
15cm 5cm
4cm
X C
ANSWET: i) seeen et aea [2]
ANSWET: [i).ucuceirercrencnnenrirrasennersesesnns sena[ 2]

3. (a) The variables x and y are connected by the equationy = k vx + 1, where K is a
constant. Find the value of p and of q.

X 224 1 Q
y > P 31/3
ANSWET: oot sessnssnessssnsnnes sues (4]
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(b) Lixin and Nora are standing at a distance d meter apart. They notice a flag pole on an

island 123 meter away.

Given that ILN 34° and INL = 49°, find the value of d.
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123m
L 3 9
Lixin Nora
d meter
ANSWET: cveceieerecrreerieseecsneas «.[3]
(c) Find the volume of the sphere with the given radius is 5.8 m.
ANSWET: ..ooveeiriecersre e seansese s sssseiens sine [3]
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4. (a) Write as a single fraction in its simplest form.

5

2
x+4 x-1

ANSWET: .covvvvreiiranenes

(b) Solve the equation

45-(p+3)=2p

ANSWET: .oveevvvrvirireieessissssssssissssssssrsnee

(c) simplify p? (p?-3p™)

ANSWET: ovvvreeceerennnns

o 5x%-20
(d) Simplify 10x%+10x-20

ANSWET! wovveriieneriisrineesieseesssrersssasessns ses
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5. (a) Find
(i) the area of triangle
(i) the shaded area of the given figure.

1lcm 1lcm

Answer: i).......

Answer: ii).......

(b) Find the radius of the circle if Area of major sector is 369cm?.

Answer: ............
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(c) Calculate the value of unknown x and y.

x.
13.2
6.9
46°
Yy
ANSWET: X) c.eoereeeeeeeeeeerveeeeeeecsssssssnnene aee [2]
ANSWET: Y) oeiirieeiriereeiresesesvareseessanens snee [2]

6. In APQR, PQ=33cm and R =90". H lies on PR such that PH = 6cm and K lies on OR such
that KR = 13cm. Find the length of

(i) HR
(i) aK
P
6cm
33cm
H
19¢m
— — R
Q K v
13cm
ANSWET: i) e erer e s [2]
ANSWET: i) cuvviveceerce st eeeresens e [2]
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(b)  Afolded napkin has a triangular cross section of sides x cm, (x +1) cm and (x + 2)cm.
If one of the angles of triangle is 90°, find the value of x.

ANSWET: ....ocriiienisiersenersensiese e (3]

()  Aladder 3.4m long rests against a wall at an angle of 78° to the horizontal. Find the

distance of the ladder from the foot of the wall.

ANSWET: ...cieeiieneiee e e e [3]

7. (a) The angles of elevation of the top and bottom of a window from a point 7.2 m from

its foot are 43° and 32° respectively. Calculate the height of the window.

window

32°

ANSWET: ..ot e ceeeen e [5]
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(b)  The following figure shows a man M standing on top of a cliff 250 m high. He
observes two ships, A and B, and their angles of depression to be 58.5° and 34.6°
respectively. Find the distance between A and B.

M
250
34.6 58.5°
B A F
ANSWET: ...ccoumiisieecne e seeseenseses e [5]
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8. (a) Itisgiventhatm = n(a+l)

(i) Find the value mwhenn=20,a=-5and|=17.

ANSWET: ocrsssssasesasisssssssssansossscsassonsoe ssos (2]

(i) Express/interms of m, nand a.

ANSWET: ...ecerervcrrereeereceesneseeseenesnsennss sees|2)

(b) In a circle, OPQ is a sector of a circle with center O and radius 5cm.
Given that POQ = 50°.
Calculate

(i) The perimeter of the sector
(ii) The area of the sector

ANSWET: (i) covvrieeiieiieieencecessereereeerenersees sene [3]
ANSWET: (i) voreerinrienieirennnressesseesesssssesses ses [3]
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